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Multiplying decimals by 10 or 100

‘L

Find the product.

1. 100 x 85.5 = 2100 x 0.7 =

3 10 x 945 = 4 10 x 90.8 =

> 10 x 98.3 = ¢ 100 x 1.35 =

100 x 7.26 = 8 10 x 45.8 =
N 10 x 5.53 = 1010 x 0,653 =

.10 x 9.25 = 2 10 x 98.1 =

13100 x 4.79 = 1410 x 0.153 =

15. 10 x 1.68 = ' 100 x 0.208 =

7. 100 x 30.8 = 8. 100 x 0.776 =

.10 x 0.751 = 10 x 585 =
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Circle the addition property for (7 +5) + 4 =7+ (5 + 4):

associative property commutative property  zero property

939,118
.= 5426

Write the number in standard form.
one hundred eleven thousand, six hundred thirty-six =

How many legs are on 4 dogs? legs
7ecm=___ ___mm 6, 48 + 5=

Round 65,470 to the nearest thousand.

200, 211, 222, J

Write the numbers in order from least to greatest.
3,920 392 3,092

Draw what comes next in the pattern.
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